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Annual Examination: 2020-2021
f&=n (Sub) : siffdw (Mathematics)
c=ifa (Class) : =r%w (8)
s (Time) : o w61 (3 Hours) cuis 73 (Full Marks) = 100

Section-A (20 Marks)

1. AT63 2TeTs Taa wie (Answer the following questions):

a. 21733 512 FreifF® M =7t | (Write the next four natural
numbers) : 2x2=4

Twizae (Example) :

32, 33, 34, 35, 36, 37
(1) 60, 61, 62, , , ,
(11) 78, 79, &80, , , ,

b. 3% T&af® a=T FTA1 : (Choose the correct answer)

2x3=6
i)45+ =5 15,4,9
)72+ =9 8,9, 6
MH1llxs5=__ 45, 55, 65
2. s fAsfa ¥at (Find the value) : . 2 x 2=4
Twizast (Example ) : 22=2x2=4
i) 72 =
ii) 52 =
(1) P.T.O.
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3. oz ol core At © AR AN (=TTt |

(Write the names of sides and vertices of the figure give,

below) : 2x3=¢
Twigad (Example): A B

D C
AR~ (Vertex) : A, B, C, D
A (Side) : AB, BC, CD,AD

X

Y/\Z

MRy (Vertex) : i) | i)
M (Side) - i) ___, ii)

, i)
B —

, 1ii)

Section-B (40 Marks)
4. AT5A Aot BA WS (Answer the following questions) :

1x10=10
1) sperae fefa 0 (Multiply) 3p.2q. =
11) Ccasren Ay 30 (Find the sum) : Sa+b, 2a +3b
1) 2x? + 5x + 4 @ x? 9% 7Y IS ?

What is the co-efficient of x?in 2x? + S5x + 47

12 PT.O.
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vi) S Bem arfera Bwrzast (Which is the example of bino-
mials)

a)x (byx—vy (c) Sx*+3x+2
v) x-2=7%# x a2 W= S 7

If x—2 = 7. then what will the value of x ?
vi) = o3 303 (Fillin the blanks) :

(a+b)’=

—— ——

vii) = o B0 (Fillin the blanks) :

F™ AL —,15- G WA A !

Reciprocal of rational numbc% s .
viii) x e 3sf=A (Squareof xi1s ___ )
a)2x (b) Jx (c) x?
1X) 'a’ @3 e RS Al o
Addituve inverse of 'a' is
a) Ja (b) —a (c)a
x) P+3=10 Nzrbresrmfeam
(a) x (b)y (c)P
In equation P + 3 = 10, variable is
(a) x (b)y (c)P
5. T3 2MOTAE THA W (Answer the following questions) :

1) s Beoiws [Rfmrar: 12x, 36 2x9=18

Find the common factor : 12x, 36
(3]
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ii) e A (Solve) 1 Sx +9=5+3x
iii) 23S ol A IR @A FEIAS L +3+5+ 749
Without adding findthesum: 1 +3+5+7+9
iv) Stst #RFETS 900 7 25fm efr 73|
Find the square root of 900 by division method.
v) 5 97 el 4fb AW IR G |
Write two rational numbers greater than 5.
vi) WrSH PRI IR (b+7) 97 W= facfw ==
Find the value of (b+7)* by using identity.
vii) TesAms fRoaas 37 - a2 — 4b2
Factonise : a? — 4b?
viii) IR fAfr st ;a2 +a+ 1, 3ema =1
Findthe value:a’+a+ 1, When a=1
ix) P R (4x - 3) (2x + 5)
Find the product : (4x - 3) (2x + 5)

6. AT AT TEA wre {Answer the following questions) :
https://www.tripuraboard.com 3Ix4=12
)  SBeoivrs o s (Factonise)
y:i—-Ty+ 12

1i) Gt fefr 31 (Find the sum) -

2x(z—x—y)and2y(z—y—x)
1) FAWYE I (Slove) -

Bx+4=3(x-1)+7

WV) W @ Sor 1 TR T S S ¢ 7, e e of SO
MO WGz seaaw.mmamw ¥

14} PTO.
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The ages of Swapan and Tapan are in the ratio 5 :7, four
years later the sum of their ages will 56 years. What are their

present ages ?

Group- C (40 Marks)

7. frsa epesyre2 T@2A wWe (Answer the following qustions) :
1x6=6
i) @z yreoiaar WS 0.0000005 't Wl S @1t |

Write in standard form of the size of a bacteria is

0.0000005m.
1) W= fasfa =cat 372
Find the value : 3
i) rad RES R TR I __ |

a) %’"2 (b) nr* () 4nr’
Area of a circle of radius r is
a) %’”: (b) zr* (©)4nr’
iv) 0.02 @ *S3AW ARSI T/ .
(The percentage of 0.021is __ )
a) 20% (b) 2% (c) 0.2%
v) ©91 3 (Divide) : —24y* + 3y
vi) 5% fa<fa 30 (Find the product) : 5P? x 6 P°
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8. Area 2= TEa Wi (Answer the following questions) :
2x5=10

1) maauH R (Find the value of m) : 5™ + 573 =53

) FTIOR ICIT (Y I 7.5 G 9k 12 oifil 3 @1
cwawe a3t 2
The diagonals of arhombus are 7.5 cm and 12 ¢m. Find its

area ?
ol 3 3
1) 2 @R 7 9F TG 76 oW ARG @
: i 3
Write the two rational numbers between ; and z

1V) 40 &R QLI T00 75% = CIHRR R S«hs fis | soum
R IR ey Seifes s

75% students were present in school on Monday among
40 students. How many students were present on Monday in
school?

v) IR [ @ (5 x 2 x 6
Find the value : (5'x2") x 6
9. fATe2 shsrets BEawe (Answer the following questions) :
3x4=12
1) Besvre Roret =37 (Factorise) : a* — 2a%b? + b*

11) 371 A Fr=iifad fd afEi 6 wom 8401 @rea o8 37 |
5 whTm FSYEN QoA SfF TAR

A machine in a soft-drink factory fills 840 bottles in six
hours. How many bottles will it fill in five hours ?

(6] P.T.O.
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3y+4 -2
111) Y= I (Solve) : 2—6y= s

iv) @ 5 24 T foPa 0 ©11 I (6T 3 | eireya firg 56 T

faf® o 4mﬁ1wmmﬁﬁwﬁmﬁf€ﬂM?
A box of sweets are divided among 24 children they will get
each. How many would get, if the number of children is

5 sweets
reduced by 47

10. o3 STt TEA WS (Answer the following questions) :
4x3=12

) e ¥ (Solve) : 15 (y—4) —2 (¥-9) *5(y+6) = 0
ii) orane (T (Prove that)
(9p - 5q)* + 180pq=(9p + 59)°

iii)wmﬁemﬁ:ﬁ@w: 18000 D@ Tow 10% 2 2.5

AHALIF |
Calculate the amount and compound interest on Rs. 18000

for 2.5 years at 10% per annum compounded annually.
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